PR e 13

At )
= %

1N3FER%1 gfgp

E ik

10~15:00° £ 12 =%

SRR - RFAWE T - 8 NBIIG KR

¥ = P2 PRAZ L AR PR
1 9/26 AL A Hx &
10/11(Z )
2 10:10~ | WRFP#FEE/ 51 FF = £
12 : 00
3 10/17 M E R F R H Hox &
4 10/24 P EL DR EHTA Hhox &
5 10/31 & 4w B L enf 3E 3B
X E A2 4B Z
— E R EE I
6 11/14 B 2 B R
AR EZ 2T AP
7 11/21 ] . = &
fe 203G i
8 11/28 BT it H &
9 12/5 T FER* pud F H= &
BT ITAE LK R AR X
0 | 1z | FEIORRARERLE g
KEFEREaFEF Fod |
11 12/19 3 ISR
12 12/26 ZEERTEE D 3 >3




1M3EZRS 15
#4225 UK LA RRBESGEE L

PARER DT 13:10~15:000 £ 12 =
LA EL D - KE AW T - NBL16 %3

&= | B E S VAR e

Loy | JEER] S L REERD -

2 | 10/4 iﬁgggﬁflﬁ[}é%]

3 | 10/11 ;ff;g@%i;iﬁ@“ﬁ

4 | 10/18 é?fiiggﬁgﬁ[%ﬂ s s

¢ Jioas] SpEcTal # (2

6 | 111 ﬁEZ;’;;] ¢ [$3 ) 2 %

7 1115 i%;g%i;ﬁﬁ%ﬁﬁ@]

s 2 3T e | A

9 | 11/29 ;{%%Lﬁ’ Lo i) 2t |
M LY ¥ - 1 T

11 |12/13 :i;ggég[”ﬁ%%&] 1

12 | 12120 %72§§z%iéﬁmﬂﬁﬁ N




3EERS 155
Brogn TRPLE 5458 BAEdk

FHPER T 15:10~17:005 £ 12 =
kB RE A BLARI(F PRS2

¥ P Y AR AL FERIEF

IR AR FIRAAE TS
B0 R

1 9/27

2 10/11 | &7 £ A& A& FTRY - & 8 $#n

FEagskipsk F g

3011018
P T AL LTt ok
L I VVA U e

5 11/15 | & = B8 R 0 Rl

6 11722 | =48+ 5T

R
~ofe

RS A SR T R

7 11/29 %

8 12/6 | T IR

9 | 12/13 | S HE i FARA A B E TR

10 | 12/20 | £ HE 40 F 3
11| 12727 | #3k B FARR A B & F R
12 1/3 | F 3 R

=




